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Instructions to the candidates:

1) Answer any 3 questions.

2) Neat diagrams mst be drawn wherever necessary.

3) Assumé suitable data, if necessary.

4) Usewaf'logarithmic tables slide rule, Mollier charts, electronic pocket calculator
and steam tables is permitted.

Q1) Perform four iterations of the Newton Raphsormethod to find the smallest
positive root of the equation f(x)=x"=5x41=0. [10]

OR

02) Find the root of equation £{x)=x>—4x—9 using bisection method in 4
stages. [10]

03) Solve the following system of equations using the Gaussselimination with
partial pivoting [10]
x, +10x, —x, =3
2x,+3x, +20x, =7

10x, —x, +2x,=4

OR

PTO.



04) Find the solution of the system of equations correct to three decimal places,
using the Gauss-Seidel iteration method. [10]

45x,+2x, +3x, =58
=3x, +22x, +2x, =47
5x,+x,+20x;, =67

05) The outflowAchemi¢al concentration from a completely mixed reactor is
measured as

¢, min 0 [2 |46 |8 12|16 20

C, mg/m? 10 20| 30 40| 60| 72 | 70 |50

For an outflow of Q = 12m?/min, estimate. the mass of chemical that exits the

reactor from ¢z = 0 to 20 min. Use TrapezoidalRule. [10]
OR
06) Whatis regression? Explain Lifigar Regression with example. [10]
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